
 

 

A. Choose the correct answer: 

1. What is the sum of 3 kg and 2.5 kg? 

 a) 5.5 kg    b) 5 kg 

 c) 6 kg     d) 4.5 kg 

2. If a bottle has 1.25 l of water and you pour 0.75 l more, how much is in the 
bottle now? 

 a) 1.75 l    b) 2 l 

 c) 2.25 l    d) 2.5 l 

3. Subtract 300 ml from 1 l. What is the result? 

 a) 600 ml    b) 700 ml 

 c) 800 ml    d) 900 ml 

4. A rod is 2.75 m long. If 1.25 m is cut, how much is left? 

 a) 1 m     b) 1.25 m 

 c) 1.5 m    d) 2.5 m 

5. What is 500 g + 2.5 kg? 

 a) 3 kg     b) 2.5 kg 

 c) 3.5 kg    d) 2.05 kg 

B. Write the Missing Terms to Complete the Sentences: 

1. 1.5 l + 2.25 l = ___ l 

2. 3 kg − 1.75 kg = ___ kg 

3. 1000 ml − 250 ml = ___ ml 

4. 1.25 m + 0.75 m = ___ m 

5. 2.5 kg − 1500 g = ___ kg 

C. Mark each sentence with a True (✔) or False (✘): 

1. 1.5 l + 1.5 l = 3 l  ______ 

2. 4 kg − 1.25 kg = 2.75 kg ______ 
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3. 1000 ml = 1 l   ______ 

4. 2.5 kg + 0.5 kg = 3.5 kg ______ 

5. 5 m − 2.5 m = 3.5 m  ______ 

D. Figure out the answers to these questions: 

1. Add 1.75 l and 2.50 l and write the total in Liters 

2. Subtract 2.25 m from 5 m and write the answer in Meters 

3. A jug has 3.5 l of juice. If 1.25 l is used, how much is left? 

4. A basket has 2.5 kg apples and 3.25 kg oranges. What is the total weight? 

5. Subtract 2.75 m from 4.5 m and give the result 

E. Challenge yourself with these questions: 

1. Add 3.2 kg and 1.8 kg and write the total weight 

2. A water tank had 5 l of water. 2.75 l was used. How much is left? 

3. Subtract 1.5 m from 3.25 m 

4. Add 0.750 l and 1.25 l 

5. A rope is 4.5 m long. If 2.5 m is cut, what is the remaining length? 

 
  


